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AJ IR

HEEANARIRIRE, £ &2/0/59 02, RREIREAEnot enough resources to complete the
operation in slot 2

2/0/59RBEEWT:

interface HundredGigE2/0/59

port link-mode route

ip address 1.1.1.1 255.255.255.252
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STEDHT

1. REEIZHT

2, 98200YaclBRRIRBRIR XIS HY, B4 MER, pipe0, pipet. pipe2, pipe3, ERHFLLiH
O S FAIEW- MERR, FTLLEIZdebug port mapping BE&/E—75I[PipeNum]2% />

debug port mapping slot 2===============

B

[Interface] [Unit] [Port] [Name] [Combo?] [Active?] [Ifindex] [MID] [Link] [PipeNum]
HGE2/0/1 0 34 cel6 no no Oxc4d 24 up 1
HGE2/0/2 0 37 cel7 no no O0xc9 24 up 1
HGE2/0/3 0 38 cel8 no no Oxca 24 up 1
HGE2/0/4 0 41 cel9 no no Oxcf 24 up 1
HGE?2/0/5 0 42 ce20 no no O0xd0 24 up 1
HGE2/0/6 0 45 ce21 no no O0xd5 24 up 1
HGE2/0/7 0 46 ce22 no no O0xd6 24 up 1
HGE2/0/8 0 49 ce23 no no Oxdb 24 wup 1
HGE2/0/9 0 50 ce24 no no Oxdc 24 up 1
HGE2/0/10 0 53 ce25 no no Oxel 24 up 1
HGE2/0/11 0 54 ce26 no no Oxe2 24 up 1
HGE2/0/12 0 57 ce27 no no Oxe7 24 up 1
HGE2/0/13 0 58 ce28 no no O0xe8 24 up 1
HGE2/0/14 0 61 ce29 no no Oxed 24 up 1
HGE2/0/15 0 62 c¢ce30 no no Oxee 24 up 1
HGE2/0/16 0 65 ce31 no no Oxf8 24 wup 1
HGE2/0/17 0 68 ce32 no no Oxf4 24 up 2

HGE2/0/33 0 1 ce0 no no 0x124 24 wup

o

HGE2/0/49

0 102 ce48 no no O0x154 24 up 3
HGE2/0/50 0 105 ce49 no no O0x159 24 wup 3
HGE2/0/51 0 106 ce50 no no Ox15a 24 up 3
HGE2/0/52 0 109 ce51 no no Ox15f 24 up 3
XGE2/0/53:1 0 110 xe0 no no O0x161 24 wup &



XGE2/0/53:2 0 111 xel no no 0x162 24 down 3

XGE2/0/53:3 0 112 xe2 no no 0x163 24 down 3

KGE20/534 0 113 xe3 no  no Oxie4 24 up

HClEREEBRR, o5 Maesee! SfBLT2661 0sX66FTLAEEMgice0s , BEMZ EMAILL T APBR
FGE2/0/56 0 117 ce53 no  no Oxi6b 24 up 3
HEESE LUl IHNEYIEe SAB AT LASE b Nirdd EBETHIEY TR, (fEFA1-320A%#.1-3200
&R 0 121 ce55 no  no  Ox171 24 up 3

HGE2/0/60 0 125 ce57 no no O0x177 24 up 8]
HGE2/0/61 0 126 ce58 no no 0x178 24 wup 3
HGE2/0/62 0 129 ce59 no no O0x17d 24 up 8]
HGE2/0/63 0 130 hg0 no no O0x17e 24 up 3
HGE2/0/64 0 133 hg! no no O0x183 24 up 3
M-GEO0/0/0 0 136 no no O0x183 24 up O

[VEGEOOT "0 737 no  no 0x183 24 down @
AJLAER_ RGOS BRI T pipe0/1/2/3Ht4ME R, Edh2/0/59i% O Epipe S 23
3. #ETk&Hdebug gacl show acl-resc slot 2 chip 0, FEFPBREZESMAIFP (AJMHacl) &R, Fr
PAEAMREXERENS SRR

MFERATHRENFP, pipe3, pipe3XKI5Hslice0-11124 slice, HP=AK—H, 0/1/28—A, 3/
4/52—4H, 6/7/82—4H, 91011E2—H, RE—HRMWslicedBEARdoublesyEtriple. MEIHIS
FIERE, pipe3BL& G Tslice6/7, sliced/1/3/4, slice9/10/11, EH6/7F19/10/11EBE RS FAa
cl5F. 0/1/3/42 PkiFilter IPV4 on RPORT ] PktFilter RPORT DEFAULT IP, jXLLER 28
F.
Acl Hw Resource: IFP, Pipe:3  ---------------- pipe3t&Ek

Pri 121, Group 9,usedEntries 38 ,mode Double, physlice 6/7/

acl type usedEntries[38]

[23 ]RX Low 9

[25 ]Super_RX Low 1
[92 IDATAPROTECT 1
[114]IFP LOW 1
[129]MPLS Vpn High 1
[131]MPLS Vpn Low 23
[153]PDT LOW INITIAL 1
[308]UntrustPriority 1

Pri 123, Group 11,usedEntries 306,mode Double, physlice 0/1/3/4/

acl type usedEntries[306]

[127]PktFilter IPV4 on RPORT 305 = --------- BidiEfYacl
[187]PktFilter RPORT DEFAULT IP 1

Pri 125, Group 4,usedEntries 92 ,mode Triple, physlice 9/10/11/

acl type usedEntries[92]
[8 ]RX IPv4 High 17

[9 ]RX IPv4 Middle High 2
[10 ]RX IPv4 Middle 29

[13 JRX IPv6 High 12

[14 IRX IPv6 Middle_High 4
[15 ]RX IPv6 Middle 3

[47 JOAM-High 4

[70 ]RX Middle Low 2

[87 ISTMVLAN_PERMIT 16
[88 ]STM_DENYALL 2
[152]PDT HIGH INITIAL 1

PR BEIEE R IE B T & T packet-filter default deny, 53-56ux[tE & 7HEITE



interface HundredGigE2/0/53
port link-mode bridge



	某局点9820-64H策略路由PBR下发失败问题
	组网及说明
	问题描述
	过程分析
	解决方法


